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goatt HT /121A 2EBRFRS

1—1—1*

"PROC'STR(KP);

"VALUE'KP;"INTEG'KP;
"BEGIN"INTEG'L;"SWITCH'S: = L1,L2;

KP: = 1+ABS(KP);

"IFKP =1'OR’KP = 2'"THEN'
"BEGIN”FOR'1: = 1'STEP'1"UNTIL" 100" DO’
WRITE(—1,".",0),

"END " ELSE’

'BEGIN”FOR'I: = 1'STEP' 1" UNTIL'KP — 1
'DO’'WRITE(—1,".",0),

"GOTO'LI11"END";

"GOTO'S[KP];

L1: WRITE(—1,";",0);

"GOTO'L10;

L2: WRITE(—1," =,",0);

L10: DCXC(1,6,” PROGRAM —START",0, 1);
Li11:"END":

1 -2

'PROC’ MMMM (KP);
"VALUE'KP;' INTEG'KP;
'BEGIN"INTEG 'I;
'SWITCH' S: = L1,L2,L3,L4;
KP: = 1 +ABS (KP);
'GOTO'S[KP];

L1: WRITE(—1,” M00;",0);
'GOTO' LS;

L2: WRITE(—1,” MO1;",0);
'GOTO'L5;

L3: WRITE (—1,” M02;",0);
'GOTO'LS5;
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L4: WRITE (—1,” M30;", 0);

L5:’FOR'IL: = 1’STEP’ 1’ UNTIL’ 200’ DO’
WRITE (=1,".",0);

DCXC(1,6,” PROGRAM-STOP " 0, 1);
"END;

1—1—3*

"PROC’'ROUND (DATT, DA);
'"VALUE' DATT;' REAL' DATT, DA;
'BEGIN’

JUMP (2, L10);

'IF’ABS(DATT)'LQ’ 10~ *' THEN’
'BEGIN’DA: = 0;’ GOTO' L300’ END;
DA: = DATT //0.01;

'GOTO ' L300;

L10:'IF’ABS (DATT)'LQ’' 10~ %' THEN'
"BEGIN’DA: = 0;’ GOTO' L300’ END;
DA: = DATT//0.0051 5;.

L300:' END;

1—1—4*

"PROC’PLOT(X, Y, N);
"VALUE'X,Y,N;'INTEG'N;

'REAL’X,Y; ‘

'BEGIN” REAL' XX, YY: }

‘IF’ ABS (X)' GQ' 105’ OR’ ABS (Y)’ GQ’ 10° ,
'"THEN" BEGIN'DCXC(1,6,” PLOT — ' GQ’ 10°",0, 1);
'GOTO'L4;'END;

ROUND (X, XX); ROUND (Y, YY);

JUMP (2, L10);

"IF'N = 0’THEN”GOTO'L1’ELSE " IF’

N = 1'THEN' WRITE(—1,” D1;G1",0)’ ELSE’
WRITE (—1,”D2; G1",0);
L1:'IF’ABS(XX)'LQ’10~3' THEN'

WRITE (0,” X", 1)’ ELSE' WRITE (0,” X ", XX):
"IF'ABS(YY)'LQ’ 10~ 3" THEN'

WRITE (0,”Y",1)’ELSE’ WRITE (0,” Y ", YY);
'GOTO'L11;

L10:'IF'XX = 0’ AND’YY-= 0’ THEN"” GOTO' L4;
'TF'XX'NQ'0' THEN' WRITE (0,” X ", XX);
"IF'YY'NQ'0’ THEN' WRITE(0,” Y, YY);

L11: WRITE(—1,";",0);

L4:'END’;



1—1—5*

"PROC’ LINEI1 (XS, YS, XF, YF,KP):
"VALUE'XS, YS, XF,YF,KP;

"INTEG’ KP;

"REAL’XS, YS,XF, YF;
"BEGIN"”REAL'X,Y;

JUMP (2,L10); ,
'IF'KP’'NQ’0’ THEN'PLOT (XS, YS,2)' ELSE' PLOT (XS, YS, 1);
PLOT (XF,YF,1);’ GOTO'L99;

L10:X: = XF — XS;Y: = YF — YS;
"IF'KP'NQ’'0'THEN'

PLOT(X,Y,2)' ELSE’'PLOT (X,Y, 1);
L99:"END’;

1—1—6*

"PROC’ ARC1 (XS, YS,XF, YF,XC, YC,NCW);
"VALUE' XS, YS, XF, YF,XC,YC,NCW,
"INTEG’'NCW;'REAL'XS, YS, XF, YF,XC, YC;
"BEGIN"INTEG'N;
'REAL'1LJJ,1,J,DX,DY,RS,RF, X, Y;

II: = XC- - XS;JJ: = YC — Y§;

DX: = XF — XS; DY: = YF — YS;

RS: = GN2(II1 II + JJ 1 JJ);

RF: =GN2(XF -XC) 1 12+ (YF-YC) T 1T2),
"IF’ ABS(RS — RF)'GQ’0.1"THEN" BEGIN'
DCXC(1,6,” ARC1 — RS'NQ’RF",0,1);PLOT (XF, YF, 2);
"GOTO'L100;" END;

ROUND (IL, I);ROUND (JJ, J);

'IF'NCW'LQ’'2' THEN''BEGIN'N:

= NCW;PLOT(XS,YS, 1);'END’' ELSE"” BEGIN'
N: = NCW — 2;PLOT (XS, YS,2);"END";

JUMP (2,L10);

'IF’N = 1'THEN' WRITE (- 1,” D1;G2",0)
"ELSE”IF’'N = 2'THEN' WRITE (- 1,” D1;G3",0);
ROUND (XF, X); ROUND (YF, Y);
'"IF’ABS(X)'LQ’ 107" THEN'

WRITE (0,” X", 1)’ ELSE’ WRITE (0,” X", X);
"IF’ABS(Y)'LQ’ 1073’ THEN'

WRITE (0,”Y"”,1)' ELSE' WRITE(0,” Y",Y);
'IF’ABS(I)’ LQ’ 10~ °*' THEN’ '
WRITE (0,”1”,1)’ ELSE’ WRITE(0,”1",1);
IF’ABS(J)'LQ’ 1073’ THEN'

WRITE(0,”J"”, 1) ELSE'WRITE (0,”J",J);

3 —



"GOTO'LII;

L10: ROUND (DX, X);

ROUND (DY,Y);

"IF'N = 1'"THEN'WRITE (- 1,”G2",0)
"ELSE”IF'N = 2'THEN' WRITE (- 1,” G3",0);
"TF'X'NQ’'0'THEN'WRITE (0,” X",X);
"IF"Y'NQ'0"THEN"WRITE(0,” Y ", Y);
"IF'I'NQ'O'THEN "WRITE (0,” 1"”,1);
TF'J'NQ'0'"THEN'WRITE(0,”J",J);
L11: WRITE(— 1,";",0);

L100:"END";

T L

"PROC’CIRC1(X,Y, D)
"VALUE'X,Y,D;'REAL’X,Y, D;

"BEGIN " REAL"XX,YY,DD;

PLOT (X — ABS(D), Y, 2),

ROUND (X — ABS (D), XX);

ROUND(Y, YY)

ROUND (ABS (D), DD);

WRITE (- 1,”D1;G2",0),
"TF"XX'NQ'0'THEN'"WRITE (0,” X", XX);
TF'YY'NQ'O'THEN"WRITE(0,”Y ", YY);
WRITE (0,”1"”, DD);

WRITE (- 1,”;",0);

"END’;

l—1—8

"PROC’ CIRC2(X1,Y1,X2,Y2,X3,Y3);
"VALUE'X1,Y1,X2,Y2,X3,Y3;
"REAL’X1,Y1,X2,Y2,X3,Y3;
'BEGIN " INTEG'IER;

"REAL’A, B, XA, YA,E,F,G, H,R,C,D:

A= (Y1 +Y2)/2;B: = (X1 + X2)/2;

C:=(X2 + X3)/2;D: = (Y2 + Y3)/2;

"IF’ ABS(X2 — X1)'LS’ 10~ 5’ THEN” GOTO " L100:
"IF'ABS (X2 — X3)'LS’ 10"’ THEN " GOTO ' L200;
"GOTO ' L1000;

L100: YA: = A;

"IF’ ABS (X2 — X3)'LS’ 103’ THEN” GOTO' L101;
"IF'ABS(Y2 — Y3)'LS’ 105 THEN” GOTO ' L101;
XA: = ((Y3 — Y2)/(X3 — X2))T (D — A) +C;
'GOTO ' L2000; :

4 —



L101: XA: = C;"GOTO ' L2000;

L200: YA: = D;"IF"ABS (X1 — X2)'LS"10°3
"THEN"”"GOTO"L201;
XA:=((Y2-Y1)/(X2 —X1))T (A —-D)+ B;
"GOTO' L2000;
L201:XA:=B;"GOTO'L2000;
L1000:G: = (Y2 — Y1)/(X2 — X1);

H: = (Y3 - Y2) /(X3 — X2)

EE=B+GTA;

F:=C+ H1TD;
XA:=(ETH-F1G)/(H-G)

YA: = (F — E)/(H — G);

L2000:R: = GN2((XA = XI) T 12+ (YA -=YI) T T2)
CIRCI1 (XA, YA,R);

"END";

1—1—9

"PROC’'ARC2(X1,Y1,X2,Y2,X3,Y3);
‘VALUE'X1,Y1,X2,Y2,X3,Y3;
"REAL’X1,Y1,X2,Y2,X3,Y3;
"BEGIN”INTEG'NCW;
"REAL’A,B,C,D,YA,XA,G,H,E,F,
DD, FCOS, FSIN,YY;

A:=(Y1 +Y2)/2;

B: = (X2 + X1)/2;

C: = (X2 + X3)/2;

D:=(Y2+Y3)/2;

"IF"ABS(X1 — X2)'LS’107¢"AND"’
ABS (X2 — X3)’LS’10"®' THEN'
"GOTO' L300;

"IF"ABS(X2 — X1)'LS’ 10" ¢ THEN'
"GOTO' L100;

"IF"ABS(X2 — X3)'LS'10"°' THEN'
'GOTO' L200;

"GOTO' L1000;

L100:YA: = A;

"IF"ABS(Y2 — Y3)'LS' 10~ ' THEN’
"GOTO'L101;

XA:=((Y3 —Y2)/(X3 —¢X2))T (D — A) + C;
"GOTO' L2000;

L101: XA: = C;" GOTO ' L2000;

L200: YA: = D;

"IF"ABS(Y1 — Y2)'LS'10" ¢’ THEN"”GOTO'L201;

5 -



XA: = ((Y2 — Y1)/(X2 - X1))t (A — D) +B;
"GOTO ' L2000;

L201: XA: = B;’ GOTO’ L2000;

L1000: G: = (Y2 — Y1)/(X2 — X1);

H: = (Y3 - Y2)/(X3 - X2);

'IF’ABS(H — G)’'LS’10~¢' THEN” GOTO ' L300;
E.=B+GtA;

F:=C+H1TD;

XA:=(E1TH-F1G)/H - G);

YA: = (F — E)/(H — G);

L2000: DD: = GN2((X2 — X1)1 12 4+ (Y2 - Yl)T 12)
'IF’DD’'LS’10~ %' THEN"” GOTO' L300;
FCOS: = (X2 — X1)/DD;

FSIN: = (Y2 = Y1)/DD;

YY: = (Y3 — Y1) 1 FCOS — (X3 — X1) T FSIN;
'IF’ABS(YY)'LS' 10~ %' THEN " GOTO' L300;
'IF’YY'LS’1073' THEN'NCW: =3;
'GOTO ' L99;

'IF’YY'GR’1073' THEN'NCW: = 4;

L99: ARC1(X1,Y1,X3,Y3,XA, YA,NCW);,
‘GOTO ' L999; '

L300: LINE1 (X1,Y1,X2,Y2, 1);
LINE1(X2,Y2,X3,Y3,1);

1L999:" END’;

1—1—10*

"PROC’'ARC3 (XS, YS,XE, YE,R, L, K);
"VALUE'XS,YS,XE, YE,R,L,K;
"INTEG'K,L;"REAL' XS, YS,XE, YE,R;
"BEGIN"INTEG 'NCW;
'REAL'D,FC,FS,XXC,YYC,XC,YC;
'IF'R’'GQ’0’' THEN'NCW: = 1"ELSE'NCW: = 2;

D: = GN2((XS — XE)T (XS — XE) + (YS — YE) T (YS — YE));

"IF'D’LS’107*'THEN " GOTO' L399;
"IF'ABS(2T R)'GQ’'D’'THEN"GOTO "L304;
L399:JUMP (3,L303);
DCXC(1,6,” ARC3 — ERROR — D =",D,0);
L303:"GOTO'L305;
L304:FC: = (XE — XS)/D
=(YE - YS)/D;
XXC:=D/2;
YYC: = GN2(R TR — XXC 1T XXC);
'TF'L =1"AND'NCW =2'THEN'YYC: = = YYC;

_6__



'IF'L =0'AND'NCW = 1'THEN'YYC: = — YYC;
XC: = XXC1 FC — YYC1 FS + XS; :

YC: = XXC1 FS + YYC® FC + YS;

'IF'K = 0'THEN” GOTO'L307;

NCW: = NCW + 2;

L307: ARC1 (XS, YS, XE, YE, XC, YC,NCW);

L305:' END;

I—1—11

"PROC’ ARC4(XS, YS,A1,A2,R);
"VALUE'XS,YS,Al1,A2,R;

"REAL’ XS, YS,A1,A2,R;
"BEGIN"”INTEG'NCW;
"REAL’'RADI1,RAD2,XC, YC, XF, YF;
RADI1: = A110.01745329;

RAD2: = A2 1 0.01745329;

XC: = XS — RT COS(RAD1),

YC: = YS — R T SIN(RAD1);

XF: = XC + R1T COS(RAD2);

YF: = YC + R 1 SIN(RAD2);
‘IF'A1'LS'0' THEN"” GOTO'L501"'ELSE’
"IF’A1'GR’'0'THEN " GOTO ' L502;
'TF'A2'GQ’'0' THEN" GOTO 'L502;

L501: NCW: = 3;"GOTO ' L600;

L502:NCW: = 4;

L600: ARC1(XS, YS,XF,YF,XC,YC,NCW);"END;

1—2—1*

"PROC’CLINE (K, U, V, W),
'VALUE'K,U,V,W; '
'INTEG'K;

'REAL'U,V,W;

"BEGIN’

'SWITCH'T: = L1,L2,L3;
'IF'K’'LS'1’OR’'K'GR'3'THEN’
'BEGIN’ WRITE( — 1,” D07;",0);
'"GOTO' L4:' END/;
U:=U1100;V:=V1100; W: = W1 100;
'IF'K = 1’ THEN " BEGIN’
WRITE (0,” DOSU ", U);

WRITE(0,” V", V), END” ELSE’
'BEGIN’ WRITE(0,” DO9U ", U);
WRITE(0,” V", V);



WRITE (0,” W, W), END;
WRITE (- 1,";",0);

"GOTO'T[K];

L1: WRITE( —1,” D04;”,0);’ GOTO’ L4;
L2: WRITE( — 1,” D05;", 0);

"GOTO' L4;

L3: WRITE( — 1,” D06;", 0);

L4:"END’;

1—2--2%

'PROC’ LINE2 (K, XS, YS, XF, YF, U, V, W);
'VALUE'K, XS, YS, XF, YF, U, V, W:
'INTEG'K;

'REAL’XS, YS, XF, YF, U, V, W;

'BEGIN’

CLINE (K, U, V, W),

LINE1 (XS, YS, XF, YF, 1);

CLINE (0, U, V, W);

"END’;

1F=2-3%

"PROC’'CLRC1(XC,YC,R,K,U,V,W);
"VALUE'XC,YC,R,K,U,V,W;
"INTEG'K;
"REAL'XC,YC,R,U,V,W;

"BEGIN'

CLINE (K, U,V, W),

CIRC1(XC,YC,R);

CLINE (0, U, V, W),

"END;

1—2—4*

"PROC’ CLRC2 (XS, YS, XF, YF, XC, YC,NCW, K, U, V);
"VALUE'XS, YS, XF, YF, XC, YC,NCW, K, U, V;
'INTEG'NCW, K;

'REAL’XS, YS, XF, YF, XC, YC, U, V;

'BEGIN’

'IF’NCW'LS’3’ THEN'NCW: = NCW + 2;
CLINE(K, U, V, V);

ARCI1 (XS, YS, XF, YF, XC, YC, NCW);

CLINE (0, U, V, V);

"END’;



R L

'PROC ' D345R (X, Y,ANGL);
"VALUE'X,Y,ANGL;
'REAL’X,Y,ANGL;
'BEGIN"REAL’AN;
PLOT(X,Y,2);

WRITE(— 1,” MO02;...... " 0);
'IF’ ANGL = 0’ THEN " BEGIN’
WRITE (0,” DI9R ", 1);

WRITE (- 1,”;",0);

WRITE (0,” D28R ", 1);

WRITE (- 1,”;",0);’ GOTO'L99;' END;
ROUND (ANGL, AN);

AN: = ABS (AN);

'IF' ANGL’LS’0’ THEN " BEGIN'
WRITE (0,” D20R ", AN);

WRITE (- 1,";",0);

WRITE (0,” D29R ", AN);

WRITE (- 1,%;",0);

'END” ELSE " BEGIN'

WRITE (0,” D19R ", AN);
WRITE (- 1,”;",0);

WRITE (0,” D28R ", AN);
WRITE( —1,";",0);

"END’;

L99: WRITE (= 1,"........... " 0);
"END;

1—3—2*

"PROC’'D1920R (X,Y,ANGL);
'"VALUE'X,Y,ANGL;
'REAL’X,Y,ANGL;
'BEGIN”REAL' AN;
PLOT(X,Y,2);

'IF’ ANGL = 0’ THEN " BEGIN’
WRITE (0,” D19R ”, 1);

WRITE( - 1,";",0);
"GOTO'L99;"END’;

ROUND (ANGL, AN);
'IF'ANGL’LS’0’' THEN' WRITE (0,” D20R , AN)’ ELSE’
WRITE (0,” D19R ",AN);

WRITE (= 1,”;",0);

L99:"END’;



=g L34

"PROC ' D289R (X, Y, ANGL);
'VALUE'X,Y,ANGL;
'"REAL’X,Y,ANGL;

'BEGIN " REAL'AN;
PLOT(X,Y,2);

"IF' ANGL = 0' THEN " BEGIN’
WRITE (0,” D28R ”,1);

WRITE( - 1,";",0);

'GOTO "L99;

"END’,

ROUND (ANGL, AN);
'IF'ANGL'LS’0' THEN’
WRITE (0,” D29R ”,AN)’ ELSE’
WRITE (0,” D28R ", AN);
WRITE( - 1,";",0);
L99:'END’;

[—3—4%

"PROC'D1345R (SCAL,IP);
"VALUE'SCAL,IP;

“INTEG '1P;

"REAL’'SCAL;

"BEGIN " REAL'SC;
"SWITCH ' T: =Ei,L2,L3;
‘IF’SCAL =0 ' THEN"SCAL: =1;
"IF'IP'LS'1'OR'IP'GR’'3'THEN'IP: = 2;
ROUND (SCAL, SC);

SC: = S5CT 10%

'GOTO ' T[IP];

L1: WRITE(0,” D14R ", SC);
"GOTO' L4;

L2: WRITE(0,” D13R ", SC);
"GOTO' L4;

L3: WRITE (0,” DI15R ", SC);

L4: WRITE( — 1,";",0);

“BINDE:

1=3==5%

"PROC’'DSPEED (F);
"VALUE'F;

- "INTEG'F;

"BEGIN "REAL'FA;
L)



"IF'F'LQ’'0'OR’F'GR"19200
"THEN" GOTO' L99;
ROUND (F /100, FA);

WRITE (0,” F”,FA);

WRITE( - 1,";",0);

1.99:" END";

f=-3-—6*

"PROC’'SEQNO (N);
"VALUE'N; INTEG'N;
WRITE (0,”;N".N//1);

1—3-—7*

"PROC'IORA (N);
"VALUE'N;"INTEG'N;

"IF'N = 0'THEN' WRITE( — 1,7 G04;",0)
"ELSE'WRITE( — 1,” G06;", 0);

et o

'PROC’PENK);

'VALUE'K: INTEG'K;

'BEGIN’

'SWITCH'T: = L1,L2,L3,L4;
'IF’K’'LS’1'OR'K'GR’4' THEN'K: = 1;
'GOTO' T[K];

L1: WRITE( — 1,” D21;",0;;' GOTO'LS;
L2: WRITE( — 1,” D22;",0);’ GOTO'LS;
L3:WRITE( — 1,” D23;",0);’ GOTO'LS5;
L4: WRITE( — 1,” D24;",0);

LS:'END’;

1--3—9%

"PROC’ ZERO (N);

'VALUE'N;

'INTEG'N;

'BEGIN"INTEG';
'IF'N’LQ’0'THEN” GOTO ' L99;
'FOR'I: = 1’STEP’1'UNTIL'N'DO’
WRITE( - 1,".",0);

L99:"END;

I—3—10*

"PROC'BLDEL (K);



"VALUE'K;

"INTEG'K;

"BEGIN’

"IF'K = 0'THEN"” GOTO'L99" ELSE’
WRITE( - 1,";/",0);

L99;"END’;

1—3—11*

"PROC'DDI12(K);

"VALUE'K;'INTEG'K;

"BEGIN’
"TF'K'GR’2'OR’K'LQ'0'THEN'K: = 2;
‘TF'K =1"THEN "WRITE( —1," D1;",0);
TF’'K = 2'THEN' WRITE( — 1,”D2;",0);
"END’;

1—3—12*

"PROC’"ESCC (K);
"VALUE'K;"INTEG'K;
"TF'K = 0'THEN'WRITE( - 1, =;",0);

1--3—]3*%

"PROC'M3CODE (K);
"VALUE'K; INTEG'K; g
"IF'K = 0'THEN' WRITE( — 1,” M30;",0);

2—1—1

"PROC’'SYMETI (X1, Y1, XX, YY,K);
"VALUE'X1,Y1,K;" INTEG'K;
"REAL'X1,Y1, XX, YY;

‘BEGIN”IF'K = 1'THEN'
"BEGIN'XX: = — X1;YY: = — Y1;"END’
"ELSE”IF’'K = 2'THEN"” BEGIN'
XX:=X1;YY: = —Y1;"END"” ELSE’
"BEGIN'XX: = — X1;YY:=Y1];"END;
"END;

2—1—2

"PROC'SYMET2(X1,Y1,X2, Y2, XX, YY);
"NALUE ‘X1, Y1,X2,Y2;
"REAL'X1,Y1,X2,Y2, XX, YY;
"BEGIN'XX: =21 X2 — XI;
YY:=21Y2—-Y1l;”END;



2—1-—-3

"PROC’'SYMET3(X1,Y1,A,B,C, XX, YY),
"VALUE'X1,Y1,A,B,C;
"REAL'X1,Y1,A,B,C, XX, YY;

"BEGIN" REAL’D,E;

D:=AT 12+BT 12,EE=A1T 1t2—-B1 12
XX:=(-21TCTA-ETX1-21A1B1"Y1l)/D;
YY:=(—-2TBTC-2TATBTX1+E1TYl)/D;
"END;

2 —fq

"PROC’'DIVID (X1,Y1,X2,Y2,A, B, XX, YY,K);
'"VALUE'X1,Y1,X2,Y2,A,B,K;
'INTEG’K;'REAL'X1,Y1,X2,Y2,A,B, XX, YY;
"BEGIN”IF'K = 1’"THEN” GOTO'L2;

'IF' ABS(A — B)’GQ' 105’ THEN " BEGIN’
B: = — B;’GOTO’L2'END’

"ELSE” BEGIN' XX: = X2;

YY: = Y2;’END’;’GOTO ' L3;

L2:XX: =(A1 X2 +B1 X1)/(A + B);
YY:=(A1tY2+B1tYl)/(A + B);

L3:"END;

2—1-—5%*

"PROC'DIVIDI (X1,Y1,X2,Y2,A, XX, YY);
"VALUE'X1,Y1,X2,Y2,A;
"REAL’'X1,Y1,X2, Y2, A, XX, YY;
"BEGIN"” REAL'D:;

D:=GN2((XI =X2) T T2+ (Yl =Y2) T T2)
"IF"ABS(D)’LS" 10"’ THEN " BEGIN’
DCXC(1,6,” DIVID1 — ERROR "0, 1);
"GOTO'L99;"END";

XX:=A/D1T (X2 - X1) + X1;
YY:=A/Dt (Y2-Y1)+ YI;

L99:"END’;

2—1—6

"PROC’CROSI1(A1,B1,C1,A2,B2,C2, XX, YY)
"VALUE'AI, BI,C1,A2,B2,C2;
"REAL"AI1,B1,C1,A2,B2,C2, XX, YY:
"BEGIN"REAL'D:

D: =A1TB2—-BI1T A2,



"IF'D = 0’ THEN " BEGIN’
DCXC(1,6,” CROS1 — ERROR",0, 1);
'GOTO'L10'END’;
XX:=(B11C2—C11B2)/D;

YY: =(C11 A2 — A11 C2)/D;
L10:'END’;

2=

"PROC’ CROS2 (X1, Y1,X2, Y2, X3,Y3,X4, Y4, GXY);
'VALUE'X1,Y1,X2,Y2,X3,Y3,X4,Y4;
'REAL’'X1,Y1,X2,Y2,X3,Y3,X4,Y4;
'ARRAY’GXY;

'BEGIN " REAL'A1,B1,C1,A2,B2,C2;

LPOIN (X1,Y1,X2,Y2,Al1,B1,C1);

LPOIN (X3, Y3, X4, Y4, A2, B2, C2);
CROSI1(A1,B1,C1,A2,B2,C2,GXY [1],GXY [2]);
"END’;

L

"PROC’'CROS3(A1,B1,C1,XC1,YC1,R1,XC, YC,KP);
"VALUE'A1,B1,C1,XC1,YC1,R1,KP;
"INTEG'KP;
"REAL'A1,B1;C1,XC1, YCL,R1, XC, YC;

"BEGIN” REAL'EPS,Z,ALPHA,

BETA,GAMMA, D,XCP, YCP,XCM, D1, YCM;
DIST4(A1,B1,C1,XC1,YC1,XC, YC),

D: =GN2((XC1 —=XC) T 12+ (YC1 -YC) T 12)
'"IF’ ABS(D) — ABS(R1)’ GR' 107>’ THEN " BEGIN'
DCXC(1,6,” CROS3 — NO — POL",0,1);"GOTO'LS5;"END;
'IF'ABS(D — R1)’LS" 103" THEN"GOTO'LS5;
"IF’ ABS(A1)’LS’107°'OR’

ABS(B1)’LS’'1073' THEN”GOTO'LI;

EPS: = 0.001;Z: = ABS(B1/Al);
HF'ZSLSYEPS ' THEN/! Bl:=0;
L1:'IF’ABS(B1)'LS'10™°' THEN"GOTO'L2;
ALPHA: =A1T 12+ BIt 12

BETA: = A11 Cl1 + A11B11YC1 - B11tB17TXCl;
GAMMA: =B1t 121 XC1t 12+ (C1+B11TYCl)
T (C1+B1TYC1)—BitT T12TR1T 12

D: = BETAT 12 — ALPHA T GAMMA;
'IF'D’LS'0'THEN” GOTO'LS5;

XCP: = ( — BETA + GN2(D))/ALPHA;

YCP: = — (A1 T XCP + C1)/Bl;

A




